Quick Review

» You can make a table of values for a relatxon such as: 2n+ 5 is related ton

Choose values for #. These are Input numbers.

Substitute each value of 7 in 211 + 5 to get the Output numbers.

Whenn=1,2n+5=2(1) +5 .

=]
Whenn=2,2n+5=2(2) +5 .
=9 :
Whenn=3,2n+5=2(3)+5
o =11
Whenn=4,2n+5=2(4)+5
=13
Here is the t_able:
Input | Qutput
n 2n+5
1 7
2 9
3 11
4 13

> You can find a relatzon given 1ts tabie of values.
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Letn represent any Input number..

When n increases by 1, the Output number increases by 4.

- This means that the expression for the Output numbers contains 47

So, compare the Output numbers to multiples of 4: 4, 8, 12, 16, 20, . ...
Each Qutput number is 2 less than a multiple of 4.

So, the output is 41— 2.
The table shows how 41 — 2 relates to n.




1. a) Evaluate the expression 3n + 1.
' Whenn=1,3n+1=3(1) + 1

Whenn=2,'3n+ 1

Wlienn=3,3n+1=3(3)+_._._

Whenn=4,3n+1=

Whenn=5,3n+1=
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b) Complete the table. Use your results from part a.
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2. Complete each table, :
Explain how the Output number is related to the Input number.
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3. Compleéte each table.

3) [ Input | Output b) [ Input Output
d 2d+3 f 3f-2
1 1
2 2
3 3
4 4
5 5
4. Use algebra. Write a relation for each table.
a) Input | Output b) Input | Output
n b 4
1 2 1 0
2 3 2 1
3 4 3 2
4 5 4 3
5 6 5 4
6. Use algebra. Write a relation for each table.
Then extend each table 3 more rows.
a) Input | Output b) o Input | Output
r s
I 4 1 2
2 6 2 -
3 8 - 3 8
4 10 4 | 11
5 12 5 14
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Input | Output
bl
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